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1. Critics argue that the overuse of social media
platforms has led to a considerable ---- in meaningful
civic engagement, as users often confuse online
activity with real-world participation.

A) resurgence

B) decline

C) moderation

D) inertia

E) escalation

2. The melting of polar ice caps, which contributes to
rising sea levels, is an irreversible process unless
immediate global actions are taken to ---- greenhouse
gas emissions.

A) proliferate

B) mitigate

C) exaggerate

D) sustain

E) replicate

3. Advocates of mental health awareness campaigns
emphasize that early intervention can ---- the long-
term effects of untreated conditions, promoting better
quality of life for individuals.

A) aggravate

B) counteract

C) alleviate

D) neglect

E) fortify

4. The rise of streaming platforms has significantly ----
traditional television viewership patterns, offering
audiences greater flexibility and personalized content.
gA) disrupted

%B) reinforced

C) emulated

D) stabilized

E) moderated

7. If the organization ---- more resources to the project,
it ---- the setbacks that delayed its completion.

A) allocated / will overcome
B) had allocated / could have overcome

QC) has allocated / would overcome

gD) would have allocated / had overcome
-

OE) will allocate / has overcome

8. It is imperative that every team member ---- their
responsibilities before the deadline ----a successful
outcome.

A) completed / ensured
B) complete / to ensure
C) to have completed / to have ensured
O

BD) having completed / to be ensured

CC‘E) completing / ensuring
o

9. The policy aims ---- inequality by promoting
education, encouraging entrepreneurship, and ----
affordable healthcare.

A) to address / providing

B) addressed / provide

C) to have addressed / to provide

D) addressing / provided

E) to be addressed / having provided
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10. The new environmental regulations are being
designed ---- carbon emissions across various
industries.

A) reduced

B) to have reduced

C) to reduce

D) having been reduced

E) reducing

11. The company is known ---- the new product by the
end of the first quarter of 2024.

A) to launch

B) to have launched

C) having launched

D) launched

E) having been launched

12. The research study, which was conducted ----five
years, revealed groundbreaking findings ----
neuroscience.

A) over/in

B) by / at

C) for / of

D) among / on

E) between / behind

13. ---- has the team met the deadline, ---- they
exceeded expectations with the quality of their work

as well, which surprised even professionals in the field.

A) Both / and

B) So / that

C) Neither / nor

D) The more / the more
E) Not only / but
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14. The board was advised to draft a comprehensive
business plan ---- approaching potential investors.
A) after

B) since

C) though

D) before

E) so that

15. The recent debate about trade centered on the
question of ---- stricter regulations would benefit small
businesses.

A) whether

B) because

C) asif

D) however

E) whenever

16. By the time the meeting----, the board members ----
all the proposals thoroughly.

A) will end / will review

B) had ended / have reviewed

C) ends / will have reviewed

D) is ending / reviewed

E) ended / are reviewing

anQora

www.angoradil.com
@ 03122402546

© lIzinsiz gogaltilamaz, dagitilamaz.



anaaora

YDS PEAK HUNTERS 70+ — Angora Dil — Ismail Turasan 4.Gin
Cloze Test: (2)
Space exploration represents one of humanity’s most A) accelerate B) hinder
ambitious endeavors, pushing the boundaries of C) illuminate D) eliminate
technological innovation and fostering international DE) amplify
collaboration. The pursuit of Mars exploration, 1) ----, o
has yielded valuable insights into planetary geology and %(3)
the potential for extraterrestrial life. However, A) akin to B) given
challenges such as high costs and technological C) prior to D) despite
limitations 2) ---- the pace of progress. Recent E) including
innovations, 3) ---- reusable rocket technology, have
begun to overcome these barriers, making space (4) o
missions more affordable and sustainable. Furthermore, A) have initiated
partnerships between private companies and space B) had initiated
agencies 4) ---- a new era of exploration, enabling C) initiates
groundbreaking achievements. 5) ---- addressing D) initiated
- . . . . E) will initiate
logistical and ethical considerations, humanity can
exploit the vast possibilities of the cosmos and secure its
o]
place as an interplanetary species. 5(5)
A) for instance B) however C) At D) From
C) in conclusion D) in contrast E) Over
E) namely
2
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The term NEET, which stands for "Not in Education,
Employment, or Training," refers to individuals, often
within the age range of 15 to 34, who are neither
engaged in formal education nor participating in the
workforce or vocational training programs. Although
this demographic may face a variety of challenges,
such as limited job opportunities or personal barriers
like health issues, it also highlights systemic issues,
including mismatches between education systems
and labor market demands. If left unaddressed, the
prevalence of NEET individuals can contribute to
long-term unemployment, social exclusion, and
economic dependency, which further exacerbates
inequality. However, targeted policies, such as
vocational training initiatives, enhanced access to
education, and apprenticeship programs, can
significantly reduce these rates and improve societal
outcomes. In addition, monitoring NEET trends
provides valuable insights for governments and
organizations to refine strategies that support youth
integration into education and the workforce.

1. What is the most suitable title for the
paragraph?
A) Challenges Faced by NEET Individuals in the

Workforce
B) The Role of Education in Addressing Inequality
C) NEET: A Brief Analysis of Causes and Solutions
D) Vocational Training as the Ultimate Solution for
NEET Issues
E) The Age-Based Definition of NEET

2. What is the primary aim of the author in writing
this paragraph?

A) To criticize governments for not addressing NEET
trends adequately

B) To explore the personal challenges NEET
individuals face

C) To promote vocational training as the sole solution
to NEET challenges

D) To define NEET and argue for its importance as an
indicator of youth success

E) To highlight the significance of systemic changes
and policies in reducing NEET rates
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3. What does the word "exacerbates" most likely
mean in the context ?

A) resolves

B) alleviates

C) reverses

D) worsens

E) simplifies

4. Which of the following best describes the tone
of the author in the text?

A) Critical and pessimistic

B) Objective and analytical

C) Persuasive and emotional

D) Informal and conversational

E) Optimistic and celebratory
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True/false questions designed to test inference and
advanced comprehension for each sentence of the
paragraph:

Sentence: The term NEET, which stands for "Not in
Education, Employment, or Training," refers to
individuals, often within the age range of 15 to 34, who
are neither engaged in formal education nor participating
in the workforce or vocational training programs.

Question: NEET individuals are exclusively defined by

their lack of participation in vocational training programs.

Sentence: Although this demographic may face a variety
of challenges, such as limited job opportunities or
personal barriers like health issues, it also highlights
systemic issues, including mismatches between

education systems and labor market demands.

Question: The challenges faced by NEET individuals are
entirely due to their personal circumstances, such as

health issues.

Sentence: If left unaddressed, the prevalence of NEET
individuals can contribute to long-term unemployment,
social exclusion, and economic dependency, which

further exacerbates inequality

Question: Addressing the issue of NEET individuals can
help reduce societal inequality.

4.Sentence: However, targeted policies, such as
vocational training initiatives, enhanced access to
education, and apprenticeship programs, can significantly

reduce these rates and improve societal outcomes.

anoora

Question: Implementing vocational training initiatives

alone is sufficient to solve the NEET issue entirely.

5.Sentence: In addition, monitoring NEET trends
provides valuable insights for governments and
organizations to refine strategies that support youth
integration into education and the workforce.

o Question: Monitoring NEET trends allows governments

o
Cto create more effective strategies for youth development.
o]
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Answer: False (Inference: It includes a lack of formal
education and workforce participation as well.)

Answer: False (Inference: The sentence also

highlights systemic issues, not just personal ones.) 5

Answer: True (Inference: The sentence implies the 8
C

opposite of what happens "if left unaddressed.") O

Answer: False (Inference: The sentence mentions

multiple types of policies, not just one.)

Answer: True (Inference: Monitoring helps refine

strategies, as stated in the sentence.)
o
o
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